ER27%E5818

TR ZEE RS RED R ERR

_ AFETE (BEAL: 4 Sv/h)
HBIE ST AlER Kix REXIEEGEES)
100cm 5cm
e E — INFRR 4H9H Eh 0.055 0.049
R = /DR 4H2H BEh 0.039 0.042
MR = INFAR 482H Eh 0.047 0.051
eI 4898 BEh 0.055 0.078
LT AN 53 48168 Eh 0.049 0.053
WEEDNFER 4H9H BEh 0.040 0.039
REE /NER 489H Eh 0.048 0.057
WL/ 4A15H BEh 0.035 0.045
RIEINER 4828 s 0.037 0.036
EELINER 486H BEn 0.040 0.038
%E/j\%i 4H2H EE;’L 0.041 0.042
INFRR 4898 Eh 0.059 0.063
TR E — PR 4H14H 55l 0.048 0.046
Rk = i 4F89H BEh 0.046 0.055
i EERET N 482H = 0.046 0.045
DRSS 4H2H BEh 0.044 0.040
RGN 489H BEhn 0.032 0.033
G5 4868 =Y 0.059 0.058
e v +Hon e 507 507
MILFIIRB IR 4L .07 .07
MilEhira R 486H =h 0.04 0.04
AL 7k & B 4868 En 0.06 0.06
Vo BRER 4868 BEn 0.04 0.04
RERE 4868 BEh 0.05 0.04
BEERE 4878 551 0.06 0.06
:E,astéﬁi ;Jkﬂiﬁmk 4; 75 /J%ﬁﬁﬁ 0.06 0.06
5 23 487 R 0.07 0.07
EELNINIRBR 487H 55 0.07 0.06
%3;:0)%7&1 E{é 4; 73 HIF 0.06 0.07
) A 486 th 0.06 0.07
BRLESERFLL 487H 55 0.04 0.05
KIBPSLESE 487H 55 0.09 0.09
72z!)—Fzx FEE&KAE 486H fEn 0.07 0.08
EENHEE 4878 551 0.05 0.05
. szgﬂﬁﬁhiﬁ 4H6H ENn 0.05 0.05
my 5 ‘EI' % M E
g ;ﬁggggfg%ﬁs i f] 487H INF 0.07 0.07
qga;%:ﬁébﬁj}ﬁ 4; 6H En 0.04 0.04
EFEDH 486H BEih 0.04 0.04
XD OSHEE 4A6H =l 0.05 0.05
FTEHER 4868 BEh 0.06 0.06
X BEEZEICLTCEBBREBEFETEL-ECAH0A4TMSVU T (BERBEHREZEZ D) &4V . EEKREHER

EEZBR(ICRP)EIFICKD—RD AN ZTHEERORSHREDIERTHHERMImSVLLT (B RMET#R
EFERODELZYEL,

O BIEAHE 60FC LE5EMDMEYRLAEIZLSF I (PA—1000)
SOM T LSEINIEYRLAIEICLSFY(TCS—172B)
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[$H#E-EEE)TCS-172B(AL7OAAT(AIL)

o Z0h ‘
AEEOEEILY . MEOHENRAYET,



276818

TR ZEE RS RED R ERR

_ AFETE (BEAL: 4 Sv/h)
HBIE ST AlER Kix REXIEEGEES)
100cm 5cm
R — /NS 5878 = 0.049 0.049
TR E — IR 5818 Eh 0.043 0.044
RIS = /NFAR 5811H 51 0.050 0.051
Rk 3 /DR 5118 BEh 0.055 0.056
LT AN 53 5813H Eh 0.052 0.056
WEEDNFER 5818 BEh 0.039 0.039
BEE/DNFER 581H Eh 0.048 0.051
WL/ 5878 BEh 0.039 0.042
RIEINER 5818 s 0.037 0.040
EELINER 5878 BEn 0.029 0.029
%E/j\;’?g 5; 18 H%;L} 0.038 0.044
INFRR 587H = 0.063 0.066
TR E — PR 5818 Bh 0.052 0.042
Rk = i 5818 BEh 0.049 0.052
L EI N 5878 = 0.043 0.045
DRSS 5818 fiEh 0.041 0.041
TR o AL AR 58128 =Y 0.030 0.031
] siﬁjzfaa;ﬁtﬂéé& 5A1H BEh 0.056 0.054
Fiﬁ’éﬁ.i% 5;_ % 5}):1 11H Hzn 0.04 0.04
miFNEEE 5118 Eh 0.07 0.06
MilEhira R 5H118 =h 0.04 0.04
AL 7k & B 5118 En 0.07 0.07
Vo BRER 5118 BEn 0.05 0.04
RERE 5811H BEh 0.05 0.05
BEERE 58128 =1 0.05 0.05
- éﬁ) ;JKJEEW" 5; 125 23 0.05 0.06
B g 5812 = 0.06 0.05
EELNINIRBR 5812H =Y 0.05 0.06
ADARERBEREES 58128 =1l 0.05 0.04
E&%ﬁ;b 5; 115 HE,BL 0.06 0.06
BEME 5812 = 0.04 0.04
KIBPSLESE 5812H =Y 0.08 0.10
Jzl)—F=zx 'a?%iﬁéﬁ,’n’ 58118 Hﬁirj, 0.06 0.07
FEH 5H12H =l 0.05 0.04
g R:l?’]b“ﬁ}aqb%’él 58118 Eh 0.05 0.04
iR& EE BE%H]E =2
CEE YR 5A128 £Y 0.06 0.05
[TESTHHE 5H11H Eh 0.05 0.05
TEEDLMIEHHER 5H118 En 0.04 0.05
XD OSHEE 5H11H %n 0.05 0.04
FTEHER 5H11H & 0.04 0.05
X BEEZEICLTCERBREBEEEEL-EZA0. 53mSvL,L‘F (BAMSHREEEZST) &LV, EREMETERES

EZEX (CRP)EIEICED—MRDANZITHFEEROMSREDERETHAHER IMSVLLT (BARSTHR
EFERODEELYZFELL,

O BIEAHZE 60 LE5EMDMEYRLAEIZLSF I (PA—1000)
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[$H#E-EEE)TCS-172B(AL7OAAT(AIL)

o Z0h ‘
AEEOEEILY . MEOHENRAYET,



ER27%E7A18

TR ZEE RS RED R ERR

_ AFETE (BEAL: 4 Sv/h)
HBIE ST AlER Kix REXIEEGEES)
100cm 5cm
e E — INFRR 6H8H = 0.053 0.047
R = /DR 6 4H BEh 0.043 0.041
R 58 = INFAL 68 1H B 0.056 0.056
eI 6848 BEh 0.054 0.052
LT AN 53 6H11H BBh 0.053 0.051
WEEDNFER 685H =Y 0.040 0.040
BEE/DNFER 689H =) 0.047 0.052
L/ 6A1H BEh 0.039 0.041
RIEINER 6818 BEh 0.037 0.032
EELINER 6H5H =Y 0.030 0.031
%E/j\;’?g 6 E 28 H%iLrJL 0.032 0.033
INFRR 6H9H = 0.061 0.067
TR E — PR 6H5H Bh 0.043 0.046
Rk = i 6 H4H BEh 0.049 0.054
L EI N 6848 =h 0.041 0.047
DRSS 6H2H BEh 0.039 0.035
TR o AL AR 65108 En 0.028 0.029
G5 6H2H BEh 0.057 0.054
it R E 688H =l 0.04 0.05
Th AL 26 P R & B 6 H8H =Y 0.06 0.05
GO E Y] 688H =l 0.05 0.04
AL 7k & B 6 H8H =Y 0.06 0.05
Vo BRER 6 H8H =Y 0.04 0.04
RERE 6H8H =V 0.05 0.05
ﬁ'}ﬁ‘% B 1%*_ 6898 %tj 0.05 0.05
@oﬁ% A e = 008 008
EELNINIRBR 6H9H =Y 0.05 0.05
%3;:0)%7&1 E{é GE gg ig 0.05 0.05
SLRE 688 = 0.06 0.05
BRLESERFLL 6 H9H =) 0.04 0.04
KD SLREE 6H9H ZY 0.08 0.09
Zz)—Fx FEEKA 6H8H =) 0.06 0.07
EENHEE 6H9H =0 0.04 0.05
: szgﬂﬁﬁbiﬁ 6H8H =) 0.05 0.04
i E]i § E-EE,. BE%H ]% =
S X 689AH £ 0.06 0.05
[TESTHHE 6H9H =0 0.04 0.05
TEEDLMIEHHER 6 H8H =) 0.04 0.04
XD OSHEE 6H8H =0 0.05 0.04
FTEHER 6 H8H =Y 0.05 0.04
X BEEZEICLTCEBBREBEFETEL-ECAH0A4TMSVU T (BRBEHREZEZ D) LAY . EEKREHER

EEZBR(ICRP)EIFICKD—RD AN ZTHEERORSHREDIERTHHERMImSVLLT (B RMET#R
EFERODELZYEL,

O BIEAHZE 60 LE5EMDMEYRLAEIZLSF I (PA—1000)
S0MCLSEIDIEYRLAIEICLSFY(TCS—172B)

o BIEEH THE

O BIER  [/IFR-PFR]IPA-1000 JEISHIEFT)
[$H#E-EEE)TCS-172B(AL7OAAT(AIL)

o Z0h ‘
AEEOEEILY . MEOHENRAYET,
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TR ZEE RS RED R ERR

_ AENE (EGL: u Sv/h)
HBIE ST HAlE Kix REXIEEGEES)

100cm 5cm

LD N o 1H8H zY 0.051 0.048

R N 1H8H Y 0.046 0.043

R 58 = INFAL 7H2H = 0.053 0.053

HE 55 PH /N2 AR 1H9H 5] 0.056 0.064

LT AN 53 78108 Eh 0.053 0.052

WEEDNFER 7828 55 0.079 0.075

rﬁ}ﬁ Tu’a]/lf& 7H10H E—m 0.048 0.046

INFRR 78148 Eh 0.036 0.039

RIE/NER 7H6H S 0.045 0.050

%:F%Fﬁjll\ﬁ-‘jﬁ 7}): 7H :?23 0.034 0.038

ERINER 7H78 = 0.036 0.037

B /DN ER 7878 =0 0.058 0.063

TR — PP i 7H7H =) 0.051 0.044

Rk = i 7878 55 0.052 0.055

j ;g%:ﬂfg& 7; 28 ﬂﬁg)*aéf:% 0.066 0.066

Firdpk 36 1O B =P A 7828 EYDHRE 0.044 0.049

BT 5 B PP A 1H9H 5 0.031 0.035

] siﬁ,ﬁ%ﬁﬂf?’x 7818 55 0.065 0.073

Fil:L’;Ea B = 788H =l 0.03 0.03

Fm%ﬁmigﬁ 7A8H =Y 0.06 0.05

hil%hire & 7H8H 55 0.05 0.05

AL 7k & B 7A8H =Y 0.06 0.05

UoBRER 7H8H 55 0.04 0.05

RERE 788H 5] 0.04 0.04

BEERE 7878 =l 0.05 0.05

= 2l _ _

EH OB LR EE TATH £ 003 00;

EELGNAN RS 787H U 0.05 0.05

S e — e o0

p) =] 7H8 == .05 )

ﬂﬂzggﬁlé)% ﬁL ui 7878 Eﬁ) 0.04 0.04

K SLEEHE 7H78 =l 0.08 0.09

72z!)—Fzx FEE&KAE 788H = 0.07 0.07

EENHEE 7878 55 0.04 0.04

: szgﬂﬁﬁﬂﬁ 788H =) 0.05 0.05
mﬁi § E‘En is%id ]E .=|E=|

[F72 S =4 FE = 71588 5] 0.04 0.04

TEEDOLMNMNINHEE 788H 551 0.04 0.05

XD OSHEE 7H8H 55 0.05 0.05

SR 7H8H =Y 0.05 0.05

X BEEZEICLTCEBBREBEFETEL-ECAH0A4TMSVU T (BRBEHREZEZ D) LAY . EEKREHER

EEZBR(ICRP)EIFICKD—RD AN ZTHEERORSHREDIERTHHERMImSVLLT (B RMET#R
EFERODELZYEL,

O BIEAHZE 60 LE5EMDMEYRLAEIZLSF I (PA—1000)
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AEEOEEILY . MEOHENRAYET,
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TR ZEE RS RED R ERR

_ AFETE (BEAL: 4 Sv/h)
HBIE ST AlER Kix REXIEEGEES)

100cm 5cm
e E — INFRR 8H3H Eh 0.054 0.052
R = /DR 8H4H BEh 0.045 0.045
Rk 2 = 1N 88 4H Eh 0.056 0.061
Rk 3 /DR 8H11H BEh 0.052 0.066
LT AN 53 8A12H Eh 0.050 0.060
T E RN 8A6H BEh 0.052 0.053
BEE/DNFER 8H6H Eh 0.046 0.042
WL/ 8H4H BEh 0.040 0.043
RIEINER 8H6H s 0.035 0.036
EELINER 8H4H BEn 0.031 0.030
%E@/j\;’?g 8JJ§ 38 HEJ’L 0.039 0.037
INFRR 8H4H Eh 0.061 0.068
j ;g’% — IR 8 E 4H L0 0.049 0.049
Rk = i 8H4H BEh 0.054 0.057
j ;g’% = FFR 82 3H BN 0.042 0.047
Firdpk 36 1O B =P A 8H3H BEh 0.043 0.037
RGN 8118 BEhn 0.031 0.030
G5 8H4H BEh 0.054 0.059
Mils IR R 88118 BEhn 0.04 0.04
Th AL 26 P R & B 8H11H En 0.05 0.06
MilEhira R 88118 =h 0.04 0.04
AL 7k & B 8H11H En 0.05 0.05
Vo BRER gH11H BEn 0.05 0.03
RERE 8A11H BEh 0.06 0.06
BEERE 8H12H =l 0.05 0.05
- éﬁ) yk“iﬁm" SE 125 ;‘Zzld 0.05 0.05
B g 8812 = 0.06 0.06
EELNINIRBR 8H12H =Y 0.05 0.05
ADARERBEREES 8H12H =1l 0.05 0.06
FEPSLEEE 8H11H BEh 0.05 0.06
BRLESERFLL 8B 12H =) 0.03 0.04
KR SLRER 8H128 iEh 0.07 0.07
M 1 — S o

B = ] ]
ARV YHE 8A11H ENn 0.05 0.04

B RE TR RFTE
5 ’R:;gbg% = 8H3H Eh 0.05 0.05
;‘ji-’%;ﬁé”éf SE 33 HEJ’L 0.04 0.04
EFEDH 883 Eh 0.04 0.03
XD OSHEE 8H11H Eh 0.04 0.04
FTEHER 8H5H En 0.04 0.05
X BEEZEICLTCEBBREBEFEETEL-ECA0ITMSVUT (BERBEREZEZ D) LAY . EEKREHER

EZEX (CRP)EIEICED—MRDANZITHFEEROMSREDERETHAHER IMSVLLT (BARSTHR
EFERODELZYEL,

O BIEAHZE 60 LE5EMDMEYRLAEIZLSF I (PA—1000)
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FR27410A1H

TR ZEE RS RED R ERR

_ AFETE (BEAL: 4 Sv/h)
HBIE ST AlER Kix REXIEEGEES)
100cm 5cm
e E — INFRR 9A3H 55 0.050 0.049
FEIRE — IR 9A3H =0 0.040 0.046
R 58 = INFAL 9H3H =l 0.059 0.058
eI 9810H 551 0.068 0.068
LT AN 53 9H15H BBh 0.057 0.060
WEEDNFER 984H =Y 0.047 0.049
BEE/DNFER 982H =) 0.056 0.058
WL/ 987H BEh 0.048 0.046
RIEINER 9828 s 0.035 0.034
%q:%':ﬁjd\ﬁ—‘& 9; 7H :Etj 58l 0.050 0.054
EREINER 9A2H =Y. R 0.041 0.041
B /DN ER 9H11H iBh 0.059 0.058
TR E — PR 9H10H =Y 0.062 0.060
Rk = i 984H =V 0.049 0.053
L EI N 9H3H =) 0.041 0.046
DRSS 9A87H 551 0.038 0.036
TR o AL AR 98 11H BEh 0.030 0.031
G5 981H =Y. /A 0.052 0.055
Muys -—Rak 987H 55 0.06 0.06
Th AL 26 P R & B 9878 55 0.06 0.07
GO E Y] 987H =l 0.05 0.06
AL 7k & B 9878 =Y 0.04 0.04
Vo BRER 9878 =Y 0.04 0.05
RERE 9A87H =V 0.05 0.05
BEERE 9A11H Eh 0.04 0.04
BLEEE 9811H BEn 0.05 0.05
1A DAREERE 9H11H 5N 0.06 0.06
EELNINIRBR 9811H BEn 0.05 0.06
ADARERBEREES 9811H Bh 0.05 0.05
FEPSLEEE 9H7H =Y 0.05 0.06
RLEEEFELL 9H11H = 0.04 0.04
Kéﬁrg?ot?ﬁ';” 9JEJH 118 H%;} 0.07 0.08
Zz)—Fx & A 9H7H =l 0.07 0.07
EENHEE 9811H fiEh 0.05 0.05
. szgﬂﬁﬁﬂﬁ 9A7H =) 0.04 0.04
I 5 ‘En % N E e
7 :i;%ﬂfﬁf i f] 98118 =g 0.04 0.05
EFEDH 987 = 0.04 0.05
XD OSHEE 9A7H =0 0.05 0.04
FTEHER 9878 =) 0.05 0.05
 BEEZEICLTCEBBREBEFETEL-ECA042mS VU T (BRBEHREZEZSD) &4V . EEKREHER

EEZBR(ICRP)EIFICKD—RD AN ZTHEERORSHREDIERTHHERMImSVLLT (B RMET#R
EFERODELZYEL,

O BIEAHZE 60 LE5EMDMEYRLAEIZLSF I (PA—1000)
S0MCLSEIDIEYRLAIEICLSFY(TCS—172B)

o BIEEH THE

O BIER  [/IFR-PFR]IPA-1000 JEISHIEFT)
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ER27E11B1H

TR ZEE RS RED R ERR

EZEX (CRP)EIEICED—MRDANZITHFEEROMSREDERETHAHER IMSVLLT (BARSTHR

EFERODELZYEL,

AIEAE 60T ESEIDMERYRLAIFEICKSFH(PA—1000)
S0MCLSEIDIEYRLAIEICLSFY(TCS—172B)

AEE WHA

AER [DFER-PFERIPA-1000 (JEISRERT)
BE)TCS-172B(AXX7RhAT1HIL)

(£h#EE- =

Z DAt

AERDEEICLY ., REOHHAELZYETS,

AIEE (BAL: 1 Sv/h)
HBIE ST AlER Kix REXIEEGEES)

100cm 5cm
e E — INFRR 10H5H = 0.050 0.044
R = /DR 10H7H iEn 0.041 0.046
R 58 = INFAL 108 1H =) 0.048 0.049
Rk 3 /DR 10H5H =Y 0.051 0.053
T PaNINEE 10H9H Eh 0.057 0.060
WEENFER 10H2H =Y 0.048 0.052
BEE/DNFER 10858 =) 0.044 0.038
WL/ 10H6H BEh 0.041 0.042
RIEINER 10H2H BEh 0.041 0.038
%:F%J':ﬁjll\ﬁ-%i 10; 5H :?ztj 0.028 0.033
EREINER 1082H =l 0.041 0.039
B /DN ER 10H6H iBh 0.059 0.063
R — PFR 10858 =Y 0.042 0.047
Rk = i 10H1H =V 0.047 0.053
i EERET N 10818 = 0.043 0.044
DRSS 10H2H =Y 0.043 0.040
HE I 55 L R P A 1087H 51 0.032 0.029
G5 10H5H =V 0.055 0.057
Mils IR R 10858 =l 0.04 0.04
Th AL 26 P R & B 10858 =Y 0.06 0.05
MilEhira R 10858 =l 0.04 0.04
AL 7k & B 10858 =Y 0.06 0.05
Vo BRER 10858 =) 0.05 0.04
RERE 10H5H =V 0.06 0.05
BEERE 1086H Bh 0.05 0.06
BLEEE 10H6H BEn 0.05 0.04
1A DAREERE 10H6H 5N 0.06 0.07
EELNINIRBR 10H6H BEn 0.05 0.05
ADARERBEREES 10H6H Bh 0.05 0.06
FEPSLEEE 10858 =Y 0.05 0.06
BRLESERFLL 1086H BEh 0.04 0.04
Kéﬁrg?ot?ﬁ';” 10; 68 H%;} 0.09 0.09
J2z)—Fz Tg B 10858 £l 0.06 0.06
EENHEE 10H6H fiEh 0.05 0.05
s R 10858 = 0.04 0.04

B REF e K E
5 ’R:;gbg% = 10868 BEh 0.06 0.06
EEDHA 1085 = 0.05 0.04
XD OSHEE 10858 =) 0.04 0.05
FTEHER 10858 =Y 0.05 0.05

X AEEEEICLCERBREBEZHEL-ECAATIMSVUT (BRBESBEZE25D) &4V . ERHRET 4R




FR271412A1H

TR ZEE RS RED R ERR

_ AFETE (BEAL: 4 Sv/h)
HBIE ST AlER Kix REXIEEGEES)

100cm 5cm
e E — INFRR 11H5H Eh 0.039 0.039
R = /DR 11858 BEh 0.039 0.043
IR E = IV 1184H Eh 0.049 0.049
Rk 3 /DR 11848 BEh 0.059 0.062
LT AN 53 11H12H = 0.056 0.060
WEENFER 11H9H =l 0.048 0.051
REE /NER 11848 Eh 0.046 0.047
WL/ 11H4H BEh 0.039 0.039
RIE/NER 11H4H 51 0.035 0.040
== /INFER 11H6H Bh 0.034 0.037
EREINER 11H2H = 0.040 0.041
B /DN ER 11848 BBh 0.062 0.061
TR E — PR 11858 BEn 0.042 0.050
Rk = i 11H4H8 BEh 0.044 0.053
i EERET N 11848 BEhn 0.043 0.048
DRSS 1186H BEh 0.046 0.043
RGN 11A13H =) 0.030 0.027
G5 11H4H fiEh 0.056 0.061
Mils IR R 11898 =l 0.04 0.04
Th AL 26 P R & B 11H98 =Y 0.06 0.06
hil%hire & 11H98 =) 0.05 0.04
AL 7k & B 11H98 =Y 0.06 0.05
Vo BRER 11898 =Y 0.04 0.05
RERE 11H9H =V 0.04 0.05
BEERE 118108 =l 0.05 0.05
BLEEE 11H10H N 0.05 0.05
1A DAREERIE 115108 =Y 0.06 0.05
EELNINIRBR 11H10H =Y 0.05 0.05
ADARERBEREES 11H10H =) 0.05 0.05
FEPSLEEE 11598 =Y 0.05 0.06
BRLESERFLL 115108 = 0.04 0.04
KIBPSLESE 11H10H =Y 0.08 0.08
7z!)—Fz fp&EE 11898 =) 0.06 0.07
EENHEE 118108 =V 0.04 0.04
s R 11898 = 0.04 0.04

B REF e K E =
5 lR:i%é“bfﬂﬁ = 118108 21 0.06 0.06
[TESTHHE 11898 =0 0.04 0.05
EEDLA TSR 11898 =) 0.04 0.05
%@rﬂﬂ]ﬁ 11 E 9H :T;Lj 0.05 0.05
i3 11898 =Ll 0.06 0.05

X BEEZEICLTCEBBREBEFETEL-ECA042mS VU T (BRBEHREZEZ D) &4V . EEKREHER

EEZBR(ICRP)EIFICKD—RD AN ZTHEERORSHREDIERTHHERMImSVLLT (B RMET#R
EFERODELZYEL,

O BIEAHZE 60 LE5EMDMEYRLAEIZLSF I (PA—1000)
S0MCLSEIDIEYRLAIEICLSFY(TCS—172B)

o BIEEH THE

O BIER  [/IFR-PFR]IPA-1000 JEISHIEFT)
[$H#E-EEE)TCS-172B(AL7OAAT(AIL)

o Z0h ‘
AEEOEEILY . MEOHENRAYET,



Fr28F1A1H

TR ZEE RS RED R ERR

_ AFETE (BEAL: 4 Sv/h)

HBIE ST HAlE Kix REXIEEGEES)

100cm 5cm
e E — INFRR 12H2H = 0.037 0.035
TR E — IR 12H2H BEh,. =Y 0.043 0.047
R 58 = INFAL 1281H B 0.053 0.054
Rk 3 /DR 12H1H BEh 0.057 0.055
HRIREE 7NN 12H8H =l 0.061 0.067
e E E/DFER 12H3H ‘DR 0.055 0.053
BEE/DNFER 12878 Bh 0.049 0.047
WL/ DFER 12818 BEh 0.037 0.039
RIE/NER 12A1H B 0.037 0.038
== /INFER 12H4H Bh 0.037 0.037
%E@/j\;&fi 12H1H H%;} 0.043 0.045
INFRR 12H8H =l 0.065 0.068
R — PFR 12A7H Bh 0.045 0.046
Rk = i 12H4H BEh 0.055 0.063
R 55 = H oA 1281H En 0.046 0.045

A3 R 7Y FR A% 12H1H EEN(D /) 0.041 0.041
FE B PR 128108 =) 0.034 0.035
Rk 7R PR 1281H BEh 0.060 0.058
Fiﬁ’%‘a% 5;_ % 12878 HEJ’L 0.03 0.03
piEJLLEEE 1287H BEh 0.06 0.06
MilEhira R 12878 =h 0.04 0.05
AL 7k & B 12878 En 0.06 0.06
Vo BRER 12A7H BEn 0.05 0.05
RERE 12H7H BEh 0.05 0.05
BEERE 1288H =l 0.05 0.07
BILEEE 12H8H =Y 0.05 0.05
LHOREEE KIE 12H8H =Y 0.06 0.07
BEO AN JREE 12580 Z£Y 0.05 0.06
{FH DK EER 12A8H =) 0.06 0.06
FEPSLEEE 12878 BEh 0.06 0.06
BRLESERFLL 128 8H BEh 0.03 0.04
KIBPSLESE 12H8H =Y 0.08 0.11
72z!)—Fzx FEE&KAE 12H7H Eh 0.06 0.06
EENHEE 12H7H BEh 0.04 0.04

s R 12H7H BEh 0.04 0.04

B REF e K E -
5 lﬁcii‘bfbiﬁ = 12A8H 2 0.05 0.07
(72 S 1289H EN 0.04 0.04
EEDLMNNIGFHEE 12878 BEh 0.04 0.04
XD OSHEE 12878 En 0.05 0.05
FTEHER 12898 En 0.05 0.05
X BEEZEICLTCEBBREBEFETEL-ECA058mMSVUT (BERBEHREZEZ D) LAY . EEKREHER

EZEX (CRP)EIEICED—MRDANZITHFEEROMSREDERETHAHER IMSVLLT (BARSTHR
EFERODELZYEL,

O BIEAHZE 60 LE5EMDMEYRLAEIZLSF I (PA—1000)
S0MCLSEIDIEYRLAIEICLSFY(TCS—172B)

o BIEEH THE

O BIER  [/IFR-PFR]IPA-1000 JEISHIEFT)
[$H#E-EEE)TCS-172B(AL7OAAT(AIL)

o Z0h ‘
AEEOEEILY . MEOHENRAYET,



Frk28F2/81H

TR ZEE RS RED R ERR

_ ATEE (BEfL: 1 Sv/h)
HBIE ST AlER Kix REXIEEGEES)
100cm 5cm
e E — INFRR 188H BEh 0.042 0.038
7 Ei,i?z%:l \:fi 1 E 78 H;’L 0.039 0.039
MR E = IV 1878 BEh 0.050 0.049
Rk 3 /DR 1868 =Y 0.059 0.059
] ;iﬁjﬁﬁfv VEERR 188H fiEh 0.063 0.067
FEdE £/ R 1868 =Y 0.051 0.054
B S NER 1H78 Eh 0.048 0.060
BIL/NER 1878 BEhn 0.039 0.043
REIENER 1878 Eh 0.038 0.034
EELINER 188H BEn 0.028 0.032
%E/j\;&fg 1H75 20 0.038 0.034
INFERR 1858 BEhn 0.061 0.061
TR E — PR 1878 =N 0.047 0.045
Rk = i 1H6H ED) 0.052 0.053
L EI N 1A5H =N 0.042 0.049
DRSS 1H8H BEh 0.047 0.039
TR o AL AR 1H8H Bh 0.032 0.031
G5 1868 =V 0.053 0.056
Mils IR R 1H78 D) 0.04 0.04
Th AL 26 P R & B 1A78 BEh 0.06 0.06
hil%hire & 1878 =Y 0.05 0.05
AL 7k & B 1A78 En 0.07 0.07
Vo BRER 1878 =N 0.04 0.05
RERE 1878 BEh 0.05 0.05
BEERE 1H8H Eh 0.06 0.05
BILEEE 1888 BEn 0.05 0.06
LHOREEE KIE 1H8H En 0.07 0.07
BELN\FTNTHREH 1H8H iEh 0.06 0.06
{FH DK EER 1A8H BEhn 0.07 0.05
Ei; %J?D%')L, 1)}; 78 Hﬁn 0.06 0.06
BEME 1A8H BEhn 0.05 0.04
KIBPSLESE 188H BEn 0.08 0.10
2z)—Fzx *%iﬁéﬁ,’n’ 1878 En 0.07 0.08
FEH 188H BEh 0.04 0.05
s R 1878 BEh 0.05 0.04
- BREZFREEHKRFEANE
5 lﬁkiébfﬂﬁi = 188H & 0.06 0.06
qg;};%:ﬁébgjﬁ 1 HJEJ 78 5 ) 0.04 0.05
EFEDLAX 18128 £l 0.05 0.05
XD OSHEE 1H7H Eh 0.05 0.05
FTEHER 1A78 Bhn 0.06 0.06
X A EEEEICLCERBREEZHEL-ECA0MVUT (BRBESBEZE25D) &4V . ERHRET4EE

EZEX (CRP)EIEICED—MRDANZITHFEEROMSREDERETHAHER IMSVLLT (BARSTHR
EFERODEELYZFELL,

O BIEAHZE 60 LE5EMDMEYRLAEIZLSF I (PA—1000)
S0MCLSEIDIEYRLAIEICLSFY(TCS—172B)

o BIEEH THE

O BIER  [/IFR-PFR]IPA-1000 JEISHIEFT)
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283/ 1H

TR ZEE RS RED R ERR

_ ATEE (BEfL: 1 Sv/h)
HBIE ST AlER Kix REXIEEGEES)
100cm 5cm
T o8 — INFIR 2H2H B 0.036 0.034
] Ei,i?z%:' \Ez 2; 2H H%;L} 0.041 0.039
R = INFIR 2H4H = 0.047 0.047
eI 2A8H iEn 0.062 0.063
; ;iﬁjﬁﬁfv VIR 2A12H E—EU 0.059 0.065
FEdE £/ R 2818 =Y 0.052 0.049
B S NER 282H Eh 0.045 0.048
WL/ 2A2H BEh 0.037 0.040
REIENER 2A1H =l 0.035 0.034
%:F%J':ﬁjll\ﬁ-%i 2 JJ: 2H H%irJL 0.034 0.036
EREINER 2818 =l 0.039 0.039
B IL/NER 2H8H BEh 0.063 0.061
] ;ggﬁ — IR 2 E 5H EEJ’L 0.047 0.048
Fi —hER 2828 =h 0.050 0.053
L EI N 2818 =) 0.043 0.046
DRSS 2A1H =) 0.043 0.040
BT 5 B PP A 2512H =Y 0.030 0.029
G5 2A1H =Y 0.055 0.055
hil%s —tre &= 2H8H & 0.04 0.04
Fiﬁ%’ﬁﬁ% 2; 8H %U 0.06 0.06
hil%hire & 2H38H 5 0.04 0.04
AL 7k & B 2H8H = 0.05 0.05
Vo BRER 2H8H Bh 0.04 0.04
RERE 2A8H BEh 0.04 0.05
BEERE 2H9H Bh 0.05 0.05
BILEEE 2H9H BEn 0.05 0.05
LHOREEE KIE 2H9H 51 0.06 0.06
BELN\FTNTHREH 2598 iEh 0.05 0.05
{FH DK EER 2H9H BEh 0.06 0.05
FEPSLEEE 2H8H =Y 0.05 0.06
BRLESERFLL 2598 BEh 0.03 0.04
Kéﬁrg?ot?ﬁ';” 2 JE 98 H%;} 0.08 0.09
J2z)—Fz Tg B 2H8H £l 0.07 0.07
EENHEE 2A9H fiEh 0.05 0.05
: R:v’]*ﬂ}aqb%ﬁl 2A8H =) 0.05 0.05
Ej/ § EE BE%H]E £
(;trzi,széﬁi’é 2810H Eh 0.04 0.05
ERHOI ISR 2H8H En 0.05 0.06
XD OSHEE 2H8H BEh 0.05 0.05
FTEHER 2H8H =Y 0.06 0.05
X AEEEEICLCERBREBEZAEL-ECAATIMSVUT (BRBESHBEZE25D) &4V . ERHRET4EE

EZEX (CRP)EIEICED—MRDANZITHFEEROMSREDERETHAHER IMSVLLT (BARSTHR
EFERODEELYZFELL,
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Fr28F4A81H

TR ZEE RS RED R ERR

- AE I (BB L u Sv/h)

BIE IS5 FR AIE B P 3 REXIEEGEES)
100cm 5cm
iRk = — INFRR 3A1H Eh 0.034 0.035
R E — INFRR 3A10H BEh,. =Y 0.038 0.038
R 58 = INFAL 3A8H B 0.051 0.048
eI 3A8H BEh 0.059 0.062
LT AN 53 3A15H Eh 0.055 0.052
e E E/DFER 3A1H BEh 0.050 0.049
BEE/DNFER 384H Eh 0.046 0.042
LN 3A1H BEh 0.043 0.034
RIEINER 3838 s 0.037 0.037
EELINER 3H1H BEn 0.034 0.028
%E/j\;’?g 3 E 18 HE/L 0.035 0.032
INFERR 3H8H BEhn 0.058 0.060
] ;%gﬁ— GEEZ5 3)51JE 10H BB 0.057 0.057
TR E — PR 3H48 BEhn 0.048 0.054
] g%imfg 3 E 18 B 0.043 0.045
HSEArEEZ A 318 BEhn 0.049 0.036
TR o AL AR 3F10H =Y 0.029 0.033
Rk 7R PR 3A1H fiEh 0.058 0.060
it R E 3B9H =) 0.04 0.04
Th AL 26 P R & B 3H9H 0.07 0.07
GO E Y] 38118 =) 0.04 0.05
AL 7k & B 3H9A8 55 0.07 0.07
UoBRER 3H10H =Y 0.04 0.05
RERE 3A10H =V 0.05 0.05
rﬁ}ﬁ%uﬂ%*_ 3E 8H En 0.04 0.05
) B 3H8H BEh 0.05 0.05
LHOREEE KIE 3H8H 51 0.06 0.05
BELN\FTNTHREH 3H8H iEh 0.05 0.05
{FH DK EER 3H8H BEh 0.05 0.05
FEPSLREE 3H9H =Y 0.06 0.06
BRLESERFLL 3H8H S 0.04 0.04
== Kéﬁrg?ot?ﬁ';” 3 JE 8H H%;} 0.07 0.08
I)—Fz F& B 3H9H £l 0.07 0.07
EENHEE 3H8H B 0.04 0.05
ARV YHE 3A9H 551 0.05 0.06

B REF e K E
5 ’R:;gbg% = 3H8H BEh 0.05 0.05
[TESSHH#E 3H10H =l 0.04 0.05
LERDOIESHEER 38118 55 0.04 0.04
XD OSHEE 3810H =0 0.05 0.06
FTEHER 398 =) 0.05 0.06
X AEEEEICLCERBREBEZHEL-ECA02mSVUT (BRBESHBEEZ25D) &4V . EEHRET4EE

EEZBR(ICRP)EIFICKD—RD AN ZTHEERORSHREDIERTHHERMImSVLLT (B RMET#R
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TR ZEE RS RED R ERR

_ ATEE (BEfL: 1 Sv/h)
HBIE ST AlER Kix REXIEEGEES)

100cm 5cm
e E — INFRR 4848 = 0.038 0.033
FEIRE — IR 4A8H =l 0.038 0.039
T = INFR 4H5H 53] 0.055 0.069
eI 4818 BEh 0.059 0.064
LT AN 53 48128 Eh 0.056 0.055
WEEDNFER 4848 551 0.052 0.059
BEE/DNFER 486H Eh 0.049 0.042
WL/ 4H8H BEh 0.037 0.039
RIEINER 4818 = 0.037 0.034
%:F%J':ﬁjll\ﬁ-%i 4 JJ: 6H H%irJL 0.030 0.032
EREINER 4818 =l 0.035 0.039
B /DN ER 4A8H iBh 0.062 0.060
TR E — PR 48 8H =) 0.042 0.046
Rk = i 4H8H =) 0.051 0.056
R 55 = H oA 4A8H =Y 0.044 0.043
7 sg’éﬁﬂfé& 4; 18 %Lj 0.045 0.037
RGN 488H =l 0.031 0.028
G5 4868 =V 0.055 0.058
Mils IR R 486H =) 0.04 0.04
Th AL 26 P R & B 486H BEh 0.08 0.06
MilEhira R 486H =l 0.04 0.04
AL 7k & B 486H En 0.05 0.06
Vo BRER 4868 BEn 0.04 0.04
RERE 4868 =V 0.07 0.07
rﬁ}ﬁ%uﬁ%ﬁ*_ 4; 5H %U 0.04 0.05
] B 48 6H BEh 0.05 0.05
1A DAREERE 4H6H 5N 0.05 0.06
EELNINIRBR 4H6H BEn 0.05 0.06
ADARERBEREES 4A6H Bh 0.06 0.05
FEPSLEEE 486H =Y 0.05 0.06
BRLESERFLL 4858 = 0.04 0.03
== Kéﬁrg?ot?ﬁ';” 4)}; GE H%Fﬁfn 0.08 0.08
T!)—Fx *#d a 4H5 5B 0.07 0.08
EENHEE 4858 =V 0.07 0.07
s R 4H5H = 0.04 0.04

BIRE TR AN E =
5 lﬁcf§b%ﬁ = 4B5H 21 0.05 0.05
[T S S E 4858 [55] 0.04 0.04
EEDLA TSR 4858 5] 0.04 0.05
XD OSHEE 4A6H Eh 0.05 0.04
FTEHER 4858 5] 0.05 0.04

X AEEEEICLCERBREBEZHEL-ECA02mSVUT (BRBESHBEZ25D) £4Y . ERHRET4EE
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286818

TR ZEE RS RED R ERR

_ ATEE (BEfL: 1 Sv/h)
HBIE ST AlER Kix REXIEEGEES)

100cm 5cm
iRk = — INFRR 582H Eh 0.034 0.033
FEIRE — IR 5828 =0 0.044 0.040
e E = INFRR 589H = 0.045 0.044
eI 5810H =Y 0.055 0.056
LT AN 53 58168 = 0.052 0.058
WEEDNFER 586H =Y 0.041 0.040
REE /NER 582H =) 0.043 0.044
WL/ 582H fiEn 0.036 0.034
RIEINER 5598 =Y 0.035 0.035
%:F%J':ﬁjll\ﬁ-%i 5}): 2H %Lj 0.030 0.033
EREINER 582H £l 0.037 0.040
B /DN ER 5H11H =0 0.056 0.061
R — PFR 5118 =Y 0.040 0.052
Rk = i 582H =V 0.047 0.051
L EI N 5828 = 0.043 0.047
DRSS 582H BEh 0.041 0.037
LA 5H13H BEhn 0.028 0.028
G5 586H =Y 0.056 0.063
Muys -—Rak 589H 55 0.04 0.03
Th AL 26 P R & B 5598 =Y 0.07 0.06
My hlRia R 589H 55 0.04 0.04
AL 7k & B 5598 =Y 0.05 0.05
Vo BRER 5598 [55] 0.04 0.05
RERE 589H =V 0.06 0.07
rﬁ}ﬁ%f 1%*_ 58108 gtj 0.05 0.05
HOREE R Shor £ 00; 008
EELNINIRBR 5H9H =Y 0.05 0.05
%3;:0)%7&1 L'E,J{Ja 5; QE il__ﬁu 0.06 0.06
SLER 589 0.06 0.06
wzggrzlé)% 5)5]H1OEI EB 0.04 0.04
K SLER 5598 = 0.08 0.08
7z!)—Fz fp&EE 5810H iBEh 0.07 0.07
EENHEE 58108 =Y 0.06 0.06
s R 58108 Eh 0.04 0.04

BIRE TR AN E
5 ’R:;gbg% = 5H810H Eh 0.06 0.06
;l:#%:ﬁébgjﬁ 5; 108 En 0.04 0.05
EEDHA 58108 Bhn 0.05 0.05
XD OSHEE 589H 55 0.05 0.05
FTEHER 58108 =) 0.05 0.06

X AEEEEICLCERBREBEZHEL-ECA02mSVUT (BRBESHBEZE25D) &4V . ERHRET4EE

EEZBR(ICRP)EIFICKD—RD AN ZTHEERORSHREDIERTHHERMImSVLLT (B RMET#R
EFERODELZYEL,
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Fr28F7A1H

TR ZEE RS RED R ERR

. o AENE (EGL: u Sv/h)

BIE IS5 FR il =! P 3 REXIEEGEES)
100cm 5cm
e E — INFRR 6H3H Eh 0.032 0.032
REdU o8 — /N 6528 BB 0.043 0.044
R 2 = N 6H2H L 0.050 0.044
A PO /N AR 6878 zY 0.054 0.056
EL D DA Y 65168 =Y 0.054 0.055
iﬁJZ;afﬁ-l:/ VEERR 6H2H BEh 0.039 0.042
[ 5 /N 6828 L 0.047 0.061
BN 65 3H B 0.036 0.034
RIEINER 6528 s 0.038 0.034
EELINER 6H6H =Y 0.030 0.031
%E@/j\;&fi 6H2H HEJ’L 0.038 0.042
INFRR 6H2H Eh 0.056 0.059
j sg’% —HER 6H3H B 0.044 0.048
Rk = i 6828 BEh 0.051 0.052
j ;g’%:mff'& 6H1H EE 0.048 0.041
DRSS 683H BEh 0.039 0.038
BT 5 B PP A 65108 B 0.029 0.028
] siﬁ,ﬁ%ﬁﬂf?’x 6818 =V 0.055 0.057
Higs-—RakE 686H = 0.04 0.04
Th AL 26 P R & B 6H6H =Y 0.07 0.06
GO E Y] 686H =l 0.05 0.04
T3 N R A 6H6H £Y 0.06 0.06
UoBRER 6 H6H =Y 0.04 0.04
RERE 686H fiEh 0.07 0.07
ﬁ'}ﬁ‘% E2REE 6878 551 0.05 0.06

B & =1l
BORE AR SAer 5 006 008
EELNANER 6868 U 0.05 0.05
%3;:0)%7&1 E{Eé GE GE EFE:,*?L 0.04 0.05
SLEE 686 5 0.05 0.06
BRLESERFLL 6A7H = 0.04 0.05
SR SLRE 6H56H =) 0.08 0.08
72z!)—Fzx FEE&KAE 6878 551 0.06 0.07
EENHEE 6878 55 0.06 0.06
: R:vg*jﬁﬁbiﬁ 687H 551 0.04 0.04
m 5 ‘nl’ % M E NR
2 é%;%%% i f] GE 78 2 0.05 0.06
AR 687H 0.04 0.03
TEEDLMIEHHER 6878 551 0.04 0.04
XD OSHEE 6868 =l 0.05 0.05
EYiBAL 35 6H7H 5] 0.05 0.05
X BEEZEICLTCEBBREBEFETEL-ECA042mS VU T (BERBEHREZEZ D) LAY . EEKREHER

EEZBR(ICRP)EIFICKD—RD AN ZTHEERORSHREDIERTHHERMImSVLLT (B RMET#R
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Fr28%F8A1H

TR ZEE RS RED R ERR

_ ATEE (BEfL: 1 Sv/h)
HBIE ST AlER Kix REXIEEGEES)

100cm 5cm

iRk = — INFRR 784H Eh 0.031 0.030

FEIRE — IR 7868 =0 0.039 0.036

R 58 = INFAL 7H5H = 0.047 0.044

eI 7878 iEn 0.056 0.068

LT AN 53 788H = 0.057 0.058

WEEDNFER 7848 fiEn 0.039 0.040

BEE/DNFER 7H18 =l 0.044 0.039

WL/ 7818 =) 0.038 0.037

RIEINER 7H1H s 0.033 0.033

EELINER 7848 BEn 0.033 0.029

%E/j\:’?g 7; 48 HEJ’L 0.039 0.044

INFERR 7H78 BEhn 0.059 0.063

j ;g% — IR 7B78 L0 0.056 0.060

Rk = i 7818 BEh 0.051 0.055

i EERET N 7H18 =h 0.040 0.046

DRSS 7818 =Y 0.048 0.038

HE I 55 L R P A 7H7H B 0.030 0.027

G5 784H BEh 0.050 0.053

Mils IR R 7H48 BEhn 0.03 0.03

Th AL 26 P R & B 7H48 En 0.06 0.06

MilEhira R 7H48 =h 0.04 0.04

AL 7k & B 7H48 En 0.06 0.05

Vo BRER 7H4H BEn 0.04 0.04

RERE 7848 BEh 0.06 0.08

BEERE 7858 =l 0.05 0.06

BLEEE 7848 BEh 0.05 0.05

1A DAREERE 1H4H 5N 0.05 0.05

EELNINIRBR 7848 BEn 0.05 0.05

ADARERBEREES 7848 BEh 0.05 0.05

FEPSLEEE 7848 BEn 0.05 0.04

BRLESERFLL 7H5H INFR 0.04 0.04

:éﬁrfot%ﬁ';” 7 E 48 H%irJL 0.07 0.07

J2z)—Fz Tg B 7H5H =1 0.06 0.06

EENHEE 7858 =) 0.05 0.06

s R 785H =) 0.04 0.04
BIRE TR AN E =

5 lR:i%é‘bfﬂﬁ = 7858 21 0.06 0.06

[TESTHHE 785H =0 0.03 0.03

ERHOI ISR 7858 =Y 0.04 0.04

XD OSHEE 784H ENn 0.05 0.04

FTEHER 7858 =) 0.04 0.05

X AEEEEICLCERBREBEZHEL-ECA02mSVUT (BRBESHBEEZ25D) &4V . EEHRET4EE

EEZBR(ICRP)EIFICKD—RD AN ZTHEERORSHREDIERTHHERMImSVLLT (B RMET#R
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Fr28F9A1H

TR ZEE RS RED R ERR

_ ATEE (BEfL: 1 Sv/h)
HBIE ST AlER Kix REXIEEGEES)

100cm 5cm
e E — INFRR 8H2H = 0.032 0.034
FEIRE — IR 8A3H =0 0.039 0.042
R 58 = INFAL 8H2H =l 0.045 0.048
eI 8H2H BEh 0.055 0.063
LT AN 53 8H9H Eh 0.051 0.055
WEEDNFER 8A1H BEh 0.037 0.036
BEE/DNFER 88 2H =) 0.039 0.042
L/ 8A1H BEh 0.037 0.036
RIEINER 8H28 s 0.035 0.034
%:F%J':ﬁjll\ﬁ-%i 8JJ: 28 E‘EE:"J 0.028 0.031
EREINER 8H2H iEh 0.043 0.043
B /DN ER 8H10H BEh 0.061 0.060
j ;g’% — IR 8 E 4H H%;L} 0.057 0.050
Rk = i 8H2H - 0.063 0.075
L EI N 88 1H iBh 0.034 0.044
DRSS 8A1H =Y 0.038 0.034
RGN 8H9H BEh 0.026 0.030
G5 8H4H BEh 0.052 0.049
Fﬁ}’%‘ 51% B % 8 E 8H HEJ’L 0.03 0.03
miFNEEE 8HA8H £h 0.06 0.05
Fiﬁ%ﬁ%ﬁ% 8H8H H%;} 0.03 0.03
MmiFNNEEE 8H8H =l 0.05 0.05
Vo BRER 8H8H =N 0.04 0.04
RERE 8H8H BEh 0.07 0.07
BEERE 8H9H Bh 0.05 0.04
BLEEE 8H8H BEn 0.04 0.05
1A DRRERERRIE 8H8H L0 0.05 0.05
EELNINIRBR 8H8H BEn 0.05 0.05
ADARERBEREES 8H8H BEh 0.04 0.05
FEPSLEEE 8H8H BEn 0.06 0.06
BRLESERFLL 8H9H BEhn 0.04 0.03
:éﬁrfot%ﬁ';” 8 E 8H HEVL 0.07 0.07
2x)—Fx #H A 8H9H En 0.08 0.07
EENHEE 8H9H BEh 0.06 0.05
ARV YHE 8H9H BEh 0.05 0.06

B REF e K E
5 ’R:;gbg% = 8H9H Eh 0.06 0.06
;‘%ﬁé”éﬁ SE 98 %1} 0.04 0.04
EFEDH 8B1H = 0.05 0.04
XD OSHEE 8H8H Eh 0.04 0.04
FTEHER 8H9H En 0.06 0.05

X BEEZEICLTCEBBREBEFETEL-ECA042mS VU T (BRBEHREZEZ D) &4V . EEKREHER

EEZBR(ICRP)EIFICKD—RD AN ZTHEERORSHREDIERTHHERMImSVLLT (B RMET#R
EFERODELZYEL,

O BIEAHZE 60 LE5EMDMEYRLAEIZLSF I (PA—1000)
S0MCLSEIDIEYRLAIEICLSFY(TCS—172B)

O AlEE TWHRE

O BIER  [/IFR-PFR]IPA-1000 JEISHIEFT)
[$H#E-EEE)TCS-172B(AL7OAAT(AIL)

O ZFMih

AERDEEICLY ., REOHHAELZYETS,



FR28410A1H

TR ZEE RS RED R ERR

_ ATEE (BEfL: 1 Sv/h)
HBIE ST AlER Kix REXIEEGEES)

100cm 5cm
e E — INFRR 9A1H Eh 0.035 0.033
R = /DR 9A5H BEh 0.037 0.038
T = INFR 9H6H BN 0.045 0.045
eI 9A8H =Y\ 0.058 0.075
LT AN 53 9A6H Eh 0.051 0.057
T E RN 982H BEh 0.045 0.051
BEE/DNFER 982H Eh 0.042 0.056
WL/ 982H BEh 0.037 0.040
RIEINER 9818 s 0.037 0.031
EELINER 9H5H BEn 0.026 0.029
%E/j\;’?g 9 E 18 HEJ’L 0.031 0.031
INFRR 9H6H BEhn 0.058 0.067
j ;g%— G5 9; 6H EE 0.059 0.055
Rk = i 9A5H BEh 0.047 0.052
L EI N 982H =h 0.041 0.048
Firdpk 36 1O B =P A 9A1H BEh 0.041 0.035
TR o AL AR 9H9H =Y 0.028 0.028
G5 9A5H BEh 0.053 0.053
HiLE 51% 5;_ % 9; 5H HEJ’L 0.03 0.03
miFNEEE 9B5H Eh 0.06 0.06
My hlRia R 985H =h 0.04 0.04
AL 7k & B 9858 En 0.05 0.05
Vo BRER 9H5H BEn 0.04 0.04
RERE 9A5H BEh 0.05 0.06
BEERE 9H6H Bh 0.05 0.05
BLEEE 9H5H BEn 0.05 0.04
1A DAREERE 9H5H 5N 0.05 0.05
EELNINIRBR 9H5H BEn 0.04 0.04
ADARERBEREES 9A5H BEh 0.05 0.05
FEPSLEEE 9H5H BEn 0.05 0.05
BRLESERFLL 9H6H BEhn 0.04 0.04
Kéﬁrialfzbo L%ﬁ';” 9 JE 58 Hﬁn 0.08 0.08
2x)—Fx #H A 9H6H En 0.06 0.07
EENHEE 9A86H BEh 0.06 0.06
ARV YHE 986H BEh 0.06 0.06

B RE TR RFTE
5 ’R:;gbg% = 9H6H BEh 0.06 0.05
[TESTHHE 9A6H Eh 0.04 0.05
TEEDLMIEHHER 9H6H En 0.05 0.04
XD OSHEE 9A5H En 0.05 0.04
FTEHER 9H6H En 0.04 0.04

X AEEEEICLCERBREBEZHEL-ECA02mSVUT (BRBESBEZE25D) £4Y . ERHRET4EE

EZEX (CRP)EIEICED—MRDANZITHFEEROMSREDERETHAHER IMSVLLT (BARSTHR
EFERODELZYEL,

O BIEAHZE 60 LE5EMDMEYRLAEIZLSF I (PA—1000)
S0MCLSEIDIEYRLAIEICLSFY(TCS—172B)

o BIEEH THE

O BIER  [/IFR-PFR]IPA-1000 JEISHIEFT)
[$H#E-EEE)TCS-172B(AL7OAAT(AIL)

o Z0h ‘
AEEOEEILY . MEOHENRAYET,



Tri285E11H1H

TR ZEE RS RED R ERR

_ ATEE (BEfL: 1 Sv/h)
HBIE ST AlER Kix REXIEEGEES)

100cm 5cm
e E — INFRR 10H3H = 0.032 0.034
R E — INFRR 10H3H =0 0.038 0.040
R 58 = INFAL 1086H B 0.058 0.055
Rk 3 /DR 10H6H BEh 0.059 0.068
LT AN 53 10H11H = 0.047 0.054
WEENFER 10H5H =l 0.039 0.041
BEE/DNFER 10848 g 0.039 0.043
WL/ 10H3H =Y 0.037 0.038
RIE/NER 10H6H BE 0.036 0.038
%:F%Fﬁjll\ﬁ-‘& 10 E 4H Hﬁn 0.025 0.030
EREINER 1084H BEh 0.038 0.041
B /DN ER 10A11H =0 0.060 0.061
R — PFR 10858 =Y 0.061 0.060
Rk = i 10H3H =Y 0.053 0.056
i EERET N 10848 =h 0.044 0.045
DRSS 1084H BEh 0.042 0.037
RGN 10878 BEhn 0.031 0.032
G5 1084H BEh 0.055 0.054
Mils IR R 10838 58] 0.04 0.04
Th AL 26 P R & B 10838 5] 0.05 0.06
hil%hire & 10A3H [55] 0.05 0.06
AL 7k & B 10838 5] 0.05 0.05
Vo BRER 1083H [55] 0.05 0.05
RERE 10H3H 551 0.07 0.07
BEERE 10H4H fEn 0.05 0.05
- éﬁ) yk“iﬁm" 10; 35 ErﬁLJ 0.06 0.05
B 3 1083 = 0.06 0.06
EELNINIRBR 10H3H =Y 0.05 0.05
ADARERBEREES 1083H =) 0.05 0.05
FEPSLEEE 10H3H 55 0.06 0.06
BRLESERFLL 10848 Bh 0.04 0.04
KIBPSLESE 10H3H =Y 0.08 0.08
Zz)—Fx FEEKA 10H4H Eh 0.06 0.07
EENHEE 10H4H BEh 0.06 0.05
s R 10H4H Eh 0.06 0.06

B RE TR RFTE
5 ’R:;gbg% = 10848 BEh 0.06 0.06
(72 S 1084H EN 0.04 0.04
EEDLMNNIGFHEE 10848 BEh 0.04 0.04
XD OSHEE 10H3H 55 0.05 0.05
FTEHER 10848 BEh 0.06 0.05

X BEEZEICLTCEBBREBEFETEL-ECA042mS VU T (BERBEHREZEZSD) &4V . EEKREHER

EEZBR(ICRP)EIFICKD—RD AN ZTHEERORSHREDIERTHHERMImSVLLT (B RMET#R
EFERODELZYEL,

O BIEAHZE 60 LE5EMDMEYRLAEIZLSF I (PA—1000)
S0MCLSEIDIEYRLAIEICLSFY(TCS—172B)

o BIEEH THE

O BIER  [/IFR-PFR]IPA-1000 JEISHIEFT)
[$H#E-EEE)TCS-172B(AL7OAAT(AIL)

o Z0h ‘
AEEOEEILY . MEOHENRAYET,



FR284%12A1H

TR ZEE RS RED R ERR

JBIEE (B 1 Sv/h)
HBIE ST AlER Kix REXIEEGEES)

100cm 5cm
e E — INFRR 11H2H = 0.036 0.033
R = /DR 11H7H iEn 0.036 0.039
e E = INFRR 11H2H = 0.048 0.046
Rk 3 /DR 118108 =Y 0.057 0.072
HRIREE 7NN 11811H 55 0.054 0.059
e E E/DFER 11H2H =Y 0.035 0.039
BEE/DNFER 11848 Eh 0.049 0.042
BIL/NER 11818 En 0.038 0.034
RIEINER 11828 =Y 0.035 0.038
%:F%J':ﬁjll\ﬁ-%i 11 E 48 H%irJL 0.029 0.031
EREINER 11818 =l 0.044 0.050
EIINEE 11878 BEh 0.057 0.067
R — PFR 11878 BEn 0.061 0.053
Rk = i 11H2H =V 0.054 0.059
i EERET N 11828 = 0.045 0.049
Firdpk 36 1O B =P A 11H2H =Y 0.042 0.036
HE I 55 L R P A 11H9H B 0.032 0.032
G5 11818 BEh 0.057 0.058
Mils IR R 11878 BEhn 0.03 0.03
Th AL 26 P R & B 1178 En 0.06 0.07
MilEhira R 11878 =h 0.04 0.04
AL 7k & B 1178 En 0.05 0.06
UoBRER 11878 BEn 0.04 0.04
RERE 11H7H BEh 0.07 0.06
BEERE 1188H =l 0.06 0.06
BLEEE 11878 BEh 0.05 0.04
1A DAREERE 11H7H B 0.06 0.05
EELNINIRBR 11878 BEn 0.05 0.05
ADARERBEREES 11H7H Eh 0.05 0.05
FEPSLEEE 11878 BEn 0.05 0.05
BRLESERFLL 1188H =) 0.05 0.04
KR SLRER 11A7H iEh 0.08 0.08
A T D1 o 500 o

B = ] ]
s R 11H8H fEn 0.05 0.05

IR E FREAF TR =
5 lR:i%é“bfﬂﬁ = 11A8H 21 0.06 0.06
(72 S 1188H BEn 0.04 0.04
EEDLMNNIGFHEE 11H8H BEh 0.04 0.04
XD OSHEE 11878 En 0.05 0.05
FTEHER 11H8H En 0.05 0.04
X AEEEEICLCERBREBEZHEL-ECA02mSVUT (BRBESHBEZ25D) &4V . ERHRET4EE

EZEX (CRP)EIEICED—MRDANZITHFEEROMSREDERETHAHER IMSVLLT (BARSTHR
EFERODELZYEL,

O BIEAHZE 60 LE5EMDMEYRLAEIZLSF I (PA—1000)
S0MCLSEIDIEYRLAIEICLSFY(TCS—172B)

o BIEEH THE

O BIER  [/IFR-PFR]IPA-1000 JEISHIEFT)
[$H#E-EEE)TCS-172B(AL7OAAT(AIL)

o Z0h ‘
AEEOEEILY . MEOHENRAYET,



291818

TR ZEE RS RED R ERR

AIEE (BAL: 1 Sv/h)
HBIE ST AlER Kix REXIEEGEES)
100cm 5cm
e E — INFRR 12H1H BBh 0.034 0.032
R = /DR 12H5H BEh 0.038 0.044
R 58 = INFAL 1281H = 0.062 0.070
Rk 3 /DR 12H6H iEn 0.063 0.071
HRIREE 7NN 1287H =) 0.054 0.053
e E E/DFER 12H1H BEh 0.037 0.042
BEE/DNFER 12868 Bh 0.044 0.046
WL/ DFER 12818 BEhn 0.038 0.035
RIEINER 12818 =Y 0.039 0.040
EELINER 12858 BEh 0.027 0.028
%E@/j\;&fi 12H1H HEJ’L 0.040 0.040
INFRR 12H5H Eh 0.059 0.067
R — PFR 12A7H =) 0.059 0.060
Rk = i 12H2H BEh 0.055 0.061
i EERET N 12828 =h 0.063 0.074
Firdpk 36 1O B =P A 1282H BEh 0.045 0.037
RGN 12H8H BEhn 0.028 0.031
G5 1282H BEh 0.058 0.056
THaLs 51% 5;_ % 12 E 58 HEJ’L 0.03 0.04
miFNEEE 12858 Eh 0.07 0.06
MilEhira R 12858 =h 0.04 0.04
AL 7k & B 12858 En 0.06 0.06
Vo BRER 12858 BEn 0.04 0.04
RERE 12H5H BEh 0.06 0.06
BEERE 1286H Bh 0.05 0.06
- éﬁ) ;JKJEEW" 12 JE 5H Hﬁn 0.05 0.05
B g 12858 £h 0.05 0.06
EELNINIRBR 12858 BEn 0.05 0.05
ADARERBEREES 12858 BEh 0.04 0.04
FEPSLEEE 12858 BEn 0.05 0.04
BRLESERFLL 1286H BEhn 0.04 0.04
Kéﬁrg?ot?ﬁ';” 12 JE 58 Hﬁn 0.06 0.07
J2z)—Fz Tg B 1286H =h 0.07 0.07
EENHEE 12H6H BEh 0.06 0.06
s R 1286H BEh 0.06 0.06
BIRE TR AN E
5 ’R:;gbg% = 12868 Eh 0.05 0.05
;‘ji-’%;ﬁé”éf 12; 75 H;Fzzu 0.04 0.04
EEDHA 1286 £n 0.05 0.04
XD OSHEE 12858 En 0.04 0.04
FTEHER 12868 En 0.05 0.05
X AEEEEICLCERBREEZHEL-ECA03IIMSVUT (BRBESBEZE25D) &4V . ERHRET4EE

EZEX (CRP)EIEICED—MRDANZITHFEEROMSREDERETHAHER IMSVLLT (BARSTHR
EFERODELZYEL,
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FR29%F2/81H

TR ZEE RS RED R ERR

] _ AFETE (BEAL: 4 Sv/h)
BIE IS5 FR AIE B P 3 REXIEEGEES)

100cm 5cm
e E — INFRR 186H BBh 0.040 0.032
R = /DR 1H12H BEh 0.032 0.037
R 58 = INFAL 1510H = 0.056 0.056
Rk 3 /DR 1B118 BEh 0.056 0.074
LT AN 53 1H12H BBh 0.052 0.058
e E E/DFER 1H10H BEh 0.039 0.040
BEE/DNFER 1H68 Eh 0.040 0.056
WL/ 1868 BEh 0.037 0.037
RIEINER 1868 s 0.034 0.039
EELINER 1868 BEn 0.028 0.028
%E/j\:’?g 1}}:] 10H HEJ’L 0.039 0.040
INFRR 18128 Eh 0.065 0.070
FE 25 — R F R 18118 Eh 0.075 0.083
Rk = i 1H4H8 BEh 0.048 0.052
i EERET N 1A118 =h 0.049 0.053
Firdpk 36 1O B =P A 1H10H BEh 0.043 0.041
RGN 18138 BEhn 0.030 0.033
] siﬁjzfaa;ﬁtﬂéé& 1858 BEh 0.057 0.055
F"JL:L'E’F.-E1% 5;_ % 1 E 5 HEJ’L 0.03 0.03
miFNEEE 1858 BEh 0.06 0.07
hil%hire & 1A5H Eh 0.05 0.05
AL 7k & B 1858 En 0.05 0.06
Vo BRER 1A5H BEn 0.04 0.05
RERE 1858 BEh 0.06 0.06
BEERE 1A6H Bh 0.06 0.05
BLEEE 1858 BEn 0.05 0.07
I HOXFRERERIE 1H5H 51 0.05 0.06
EELNINIRBR 1858 BEn 0.05 0.05
ADARERBEREES 1858 BEh 0.05 0.05
FEPSLEEE 1858 BEn 0.05 0.05
BRLESERFLL 1A6H BEhn 0.04 0.04
: Kéﬁrg?ot?ﬁ';” 1 JE 58 Hﬁn 0.07 0.10
2x)—Fx #H i 1H6H =h 0.07 0.07
EENHEE 1868 BEh 0.05 0.07
s R 1H6H BEh 0.07 0.07

B RE TR RFTE
5 ’R:;gbg% = 1868 BEh 0.06 0.07
:Flsg%sﬁébg]’é 1 E 6H En 0.05 0.04
EFEDH 1H68 Bh 0.05 0.04
XD OSHEE 1H5H Eh 0.05 0.05
FTEHER 1A6H En 0.05 0.06

X BEEZEICLTCEBBREBEFETEL-ECAH053mSVUT (BERBEREZEZ D) &4V . EEKREHER

EZEX (CRP)EIEICED—MRDANZITHFEEROMSREDERETHAHER IMSVLLT (BARSTHR
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2938180

TR ZEE RS RED R ERR

_ AFETE (BEAL: 4 Sv/h)
HBIE ST AlER Kix REXIEEGEES)
100cm 5cm
e E — INFRR 2A1H Eh 0.035 0.034
R = /DR 2A2H BEh 0.039 0.038
T = INFR 2H2H B 0.049 0.046
eI 2A7H BEh 0.053 0.074
LT AN 53 2A2H Eh 0.055 0.054
WEEDNFER 2A2H BEh 0.039 0.041
BEE/DNFER 286H Eh 0.044 0.042
WL/ 2A2H BEh 0.040 0.040
RIEINER 2828 s 0.037 0.035
EELINER 2H6H BEn 0.034 0.032
%E@/j\;&fi 2A2H HEJ’L 0.034 0.033
INFRR 2A6H Eh 0.059 0.072
j ;g%— G5 2 JE 36 L0 0.059 0.068
Rk = i 2A2H BEh 0.052 0.055
j ;g%:c:fg& 2H1H EE 0.053 0.054
DRSS 2A3H BEh 0.046 0.037
RGN 28108 = 0.029 0.038
G5 2A1H fiEh 0.055 0.056
Mils IR R 286H = 0.03 0.03
Th AL 26 P R & B 2H6H BEh 0.06 0.06
MilEhira R 286H =l 0.04 0.04
AL 7k & B 2H6H BEh 0.06 0.05
Vo BRER 2H6H =Y 0.04 0.04
RERE 2A6H =V 0.07 0.06
BEERE 2H7H Bh 0.07 0.05
BLEEE 2H6H BEn 0.05 0.05
1A DAREERIE 2H6H L0 0.05 0.05
EELNINIRBR 2H6H BEn 0.06 0.05
ADARERBEREES 2A6H Bh 0.05 0.05
FEPSLEEE 2H6H =Y 0.06 0.05
BRLESERFLL 2878 BEh 0.04 0.04
Kéﬁrg?ot?ﬁ';” 2 JE 68 Hﬁn 0.08 0.08
2x)—Fx #H i 287H Eh 0.08 0.07
EENHEE 2A7H BEh 0.07 0.05
: szgﬂﬁﬁbiﬁ 2H7H Bh 0.06 0.06
EIR%Z iE. iy =R ]E: +
[TESTHHE 2A8H Eh 0.05 0.05
EEDLA TSR 2H78 BEh 0.05 0.04
XD OSHEE 2A6H =l 0.05 0.05
FTEHER 2878 BEh 0.04 0.05
X BEEZEICLTCEBBREBEFETEL-ECA042mS VU T (BRBEHREZEZ D) &4V . EEKREHER

EEZBR(ICRP)EIFICKD—RD AN ZTHEERORSHREDIERTHHERMImSVLLT (B RMET#R
EFERODELZYEL,

O BIEAHZE 60 LE5EMDMEYRLAEIZLSF I (PA—1000)
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294818

TR ZEE RS RED R ERR

AFETE (BEAL: 4 Sv/h)

HBIE ST HAlE Kix REXIEEGEES)
100cm 5cm
T o8 — INFIR 3A1H ENn 0.035 0.035
R = /DR 3A8H BEh 0.036 0.041
R 58 = INFAL 3H2H = 0.048 0.046
eI 3A9H BEh 0.060 0.071
LT AN 53 3A3H Eh 0.054 0.057
WEEDNFER 3A3H BEh 0.037 0.043
BEE/DNFER 383H Eh 0.043 0.034
WL/ 3A3H BEh 0.036 0.035
RIEINER 3828 =Y 0.042 0.037
EELINER 3H3H BEh 0.031 0.027
%E/j\;’?g 3; 38 %;L} 0.039 0.042
INFRR 3A7H = 0.062 0.062
TR E — PR 3H6H =Y 0.064 0.067
Rk = i 3A3H BEh 0.049 0.052
j ;g% itﬂffi 3; 3H H%;L} 0.053 0.052
Firdpk 36 1O B =P A 3A2H = 0.045 0.043
TR o AL AR 3H9H BN 0.031 0.031
G5 3A1H =Y 0.057 0.052
hil%s —tre &= 3H8H BEh 0.04 0.05
Th AL 26 P R & B 368 =Y 0.06 0.07
hil%hire & 3H8H BEh 0.04 0.04
AL 7k & B 368 =Y 0.05 0.06
Vo BRER 3H8H =N 0.04 0.04
RERE 3A8H BEh 0.05 0.08
BEERE 3878 =l 0.05 0.05
- éﬁ) ;JKJEEW" 3)}; GE :Zz'd 0.06 0.06
B g 386 = 0.05 0.06
EELNINIRBR 3H6H =Y 0.05 0.05
%3;:0)%7&1 L'E,J{Ja 3; GE E@U 0.05 0.06
) A 3H8 =h 0.05 0.05
BRLESERFLL 3878 BEh 0.04 0.04
KIBPSLESE 3H6H =Y 0.06 0.08
Zz)—Fx FEEKA 3A7H =1l 0.06 0.07
EENHEE 3A7H fiEh 0.06 0.06
AR YHE 3A7H =) 0.05 0.05
B REZFEIRREME 3A7H =0 0.07 0.06
FEDH 387H = 0.04 0.04
XOOHE 3A88H iBEh 0.06 0.05
FIEFHE 3A7H =l 0.06 0.06
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